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. (a+b)?2=a? +b?

2. (a-b)(a+b)=a?-b?
3. (a+b)(a? +2ab+b?)=a3+b3
4. (a-b)?=a?-2ab- b?

. (a-b)(a?-ab- b2)=a3-b3

. (a-b)3=a3-3ab+b3
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2. Hayuntbca npumeHATb UX ons
npeodbpa3oBaHUA BbIpaXXeHUMN.



@+by*=? (a-bp=?

(a+b)3 =(a+b)(a+b)a+b)=

(a-b)’=(a—b)(a—b)(a—Db)=
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(a+b)3=(a+b)(a+hb)? =

(a-b)3 =(a-b)fa-b)? =




Kyb cymmbI 1 pa3HOCTH

- (a+b)3 =a3+3a’b +3ab? + b3
=
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tc(a-b)3=a3-3a2b+3abz-b3 :er'
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6. (a-b)3=a3-3ab+b3



PUSMUHYTKA

(2 + 3) pas - KUBHYIIA
2% pas - [1PUCEIA j
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Ne 827a, Ne828a

(a+2)3 = g3 +3a202 +3a22 ;23 -

= a3 +6q2 +12a +8

LR

(b-4)3 = p3_3p2e4+3be42 -43 =

= b3-12a% +48b - 64




Nl (x+y) =
‘ x> + 3x?y? + 3xy + y°
@ x> + 3x%y + 3xy + y°

‘ x> + 3x%y + 3xy? + y°




N2, (a-c) =

a3 - 3a?c + 3ac? +c3

@ a3 - 3a?c + 3ac?-¢c?

3
a3+ 3a4c - 3ac? +¢3




Ne 3. (2+m)’ =
‘ 8+6m+6m?+m?
@ 8+ 12m + 6m2 + m?3

‘6+12m2+6m+m3



Ned, (n-1)° =

‘ n®-3n+ 3n-1
-
Q n®-3n2+6n-3 B
.
-

‘ n°-3n%-3n-1




HazBaHnue kaxkoro

rocyJapcrBa CKpbIBaeTcs

B MATCMATHNHUYCCKOM

-
BbIPpaKeHUU ;rjl
-

3
A







Pedpriekcus :
CerogHs s y3Han...

bbiNo HTEpPECHO...
t bbino TpyaHo.. -
s Tenepb g mory.. j
== A Hayumncs. .. ]
MHe 3axoTenocs...
A noHan, yYTo ...




